2t 20194 EolAt M%) HEolAt 2HS Ha

1) 4% 245 A

ojxtztE 2018t 12 Z740f4t 2019' Hojlik 3%(B-A)
AR2LH (THe )
el ‘ o ‘ = ail4+(B) oil2HB) h4 HI&(%)
o A 4,766,340 1,079,839 -3,686,501 22.7
CES=FX)] A A 3,000,000 - -3,000,000 -
22349 | HELES 3,000,000 - -3,000,000 - (AR Fol| mhE ol ikt
oy AA 1,144,340 1,078,839 -65,501 94.3
ol¥3 | Hdzoldzd 1,144,340 1,078,839 -65,501 94.3 | A Eo| W (ciALg5t e L) 1,078,839
Eaatl EX 622,000 1,000 -621,000 0.2
] 7|ERtad 620,000 S -620,000 - [ZIERRF4Y ollArALA| -
7IetollZolat42) 2,000 1,000 -1,000 50.0 |7|EfliZolxb4-Y 1,000
7|efoll o2t (2 23) 2 3 1,000




2) Mg 25 MM

(1) ExZ
ollqtatE 2018t 12} 27oi|4t 2019 Eojl4k 37HB-A)
AFELH (T 4)
s ‘ ¥ ‘ = all4H(A) o 4HB) ol H|& (%)
& A 4,766,340 1,079,839 -3,686,501 227
23| ES| 3,000,000 - -3,000,000 -
3383 1,950,000 - -1,950,000 - | BERE ol B
7|Et2gH| 1,050,000 = -1,050,000 - |71Er2%3H] of|4kAA| -
offu|u| %7 |Et A A 1,766,340 1,079,839 -686,501 61.1
e 1,766,340 1,079,839 -686,501 61.1 | RTutgh 1,075,839
LES=l e 1,075,839 x 1 3 = 1,075,839
LE =S e 4,000
20181 o|zfekgt 1,500 x 2 3 = 3,000
20194 o|zfekgt 500 x 2 3 = 1,000




